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B.Com. (Part-])

(Private)
Term End Examination, 2019-20
Group - B
Business Mathematics

Time:- Three Hours ] [Maximum Marks:75
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Note: Answer all questions. All Questions carry equal marks.

BTG / Unit - I

1. (2) ZTUT GHIGROT T 87 U GHIHRYT BT B @) faf~ fafdat @y
a9 |
What are Simultaneous equations? Explain the different methods of solving simultaneous equation.
(b) gfoRenu= fafer gRT &l HifoTe—
Solve by the method of substitution -
dx+y =124
3x —5y =18

3Y4qr / OR

(a) W WA AR Y Y faRiwant sansg |
Give various characterisations of linear programming problem.
(b) IEHTT BRI (maximize)
Z=x,+ %xl

S19fd (Such that) x; — x, = 0

1
—3% + x; < 1T (and) x; 2 0,x, >0

BT / Unit - 11
2. A2 TR AB ST DIoig afe —
Calculate A% and AB if :-
2 3 4 1 3 2
A=|1 2 3|,B=|-1 0 1
1-1 1 6 0 3
317aT / OR

RS B gRTeT RTQ T 3@ I fgwaRil B wHesy |

Give the definition of determinant and explain its main properties.

FPIE / Unit - I

3. T foar oo @) gAf @ d= Y e 12 3R 15 9 @ ?, 51783%. 9 USKR AT wwEar
fb 5% e amgfy @ ¥ ) W RAFERE 9 IRRT @ S5 MG T2 G
T4 T 18 I¥ B I U B, WAE AR AR, S/ o9 I qrer AniRe?

A father desires to distribute 51783/- amongst his two sons who are respectively 12 and 15 years olds
in such a way that the sums invested @ 5% P.a. compound interest will give the same amount to both of
them when they attain the age of 18. How should he divide the sum.

3edr / OR



(2) SHY TS BUTE WY 59 T W @Al & b 98 34560%. oefl iR gt 0 & Wy Ay
YA Ugel 99 TR0 SER I @ IAd § B | AT T IHglg TS BT AT 8% ANND | B
SR € A 7l &1 THE qou 9  RI?

Umesh purchase a printing machine on the condition that he will pay 34560/- now and equal sums will
pay at the end of first year and at the end of second year. if the compound interest is calculated 8% yearly.
Find the cash price of the printing machine.

(b) TF 3T A &1 g qeu s Y, R & 9 9F 9 A 1. B A R
ST © I ARGl ST B« 7% Wiy af § |

Find the present value of an annuity due of 1/- per annum payable annually for 2 years. The rate of
compound interest 7% per annum.

FPIE / Unit- IV
4. (a) 140%. BT ATRIB W SH UGR Tel 5 A BB & g7 ¥ 20, 31fdrs fAel |

Divide 140/- between A and B so that A get twice the money that B gets and 20/- more.

(b) A, BTAT CB o< HA: fAaargura ¥ & af BTN ¢ B Ja9 HAT 250%. TAT 1250%. &
Al BT IaT FARN |

The salary of A, B and C are in continued proportion it the salary of B and C are respectively 250/~ and
1250/-. Find the salary of A.

AT / OR

() AIET 7 13 I 509, BT X W, 15 It 60%. Bl X W A 12 A 65%. B W F @I |

et 1 NIT B T T B

Mohan purchased 13 bags at the rate of 50/- per bag. 15 bags at the rate of 60/- per bag and 12 bags at
the rate of 65/- per bag. Find the average purchase price per bag.
(b) 3T FT FN— (Find the Average)

it 0-10 10-20 20-30 30-40 40-50 50-60  60-70

Class-interval

TRy 06 13 24 41 26 12 7
Frequency
BT / Unit-V

5. (2) TP TOITE 7 WhHex 8000%. § fdamm| goive 3 a1 ¥ 1% wﬁaﬁnﬁ%%zﬁé’mﬁ
forar | S9@T HHE |
A scooter was sold for 8000/- through an agent. The agent charged his

commission at the rate of 1% from purchaser and 1 %% from the seller. find his commission.

(b) &t a%g BT 120%. H T W 25% A BT 2| IR SW I B 128%. F @ W@ ar
o uftrera @ grmT?

There is a profit of 25% when an article is sold at 120/-, What will be the gain
percent if the article is sold for 128/-.

JYAT / OR

fAefaRed aRaes wwr &1 g BIRT—
Solve the following transportation problem :-

TR (market) Ml M2 M3 M4 fef
Y TS (were house supply
w1 2 2 1 3
w2 10 8 5 4 7
w3 6 6 8 5
HRT (Demand) 4 3 4 4 15




